
E-Mail: 
info_rupes@rupes.it
italia@rupes.it

web site: www.rupes.com

Tel. +39 - 02.94.69.41  
fax +39 - 02.94.94.10.40

Via Marconi, 3 A, 20080 
Vermezzo MI

Rupes S.p.A

A

B

C

D

1 2

13

7

27

37

36

31

3

9

5

8

6

283839

35

25

4

42

10

23

41 10 14

29

40

43

44

45

46

47

11

12

DETAIL A
SCALE 1 : 5

1617 20

DETAIL B
SCALE 1 : 5

16

17

20

DETAIL C
SCALE 1 : 5

9

26

9

DETAIL D
SCALE 1 : 5

26

37
26

26

26 36

 8
36

 
 8

80
 

 4
15

 

 415 

Item Code Description1 English Qty

1 005.1615 Top Panel 1

2 020.1615 Black Painted Glass 335x335x4 1
3 003.1615 Front Panel 1
4 004.1615 Back Panel 1
5 009.1615 Carbon Filter Panel 1
6 010.1615 Steel Corner Profiles. L 4
7 006-1615 Top Panel For Metal Frame 1

8 007.1615 Bottom Panel For Metal Frame 1
9 008.1615 Panel For Primary Filter 1

10 011.1615 UV-C Led Support 2

11 001.1615 Primary Filter Ø320x500 1

12 013.1615 Aluminum H Profile 2
13 012.1615 Glass Bracket 4
14 014.1615 Bracket Hold Aluminium Profile H 2
15 133.1106 Neodymium Magnets Ø18x4 2

16 118.504 RUBBER WASHER 40 x 9 x 5 mm 2
17 9GM08003 METAL WASHER 40 x10.5x 2,5  2
18 9GM02002 NUT M12  3
19 9GM04005 Threaded Rod M12X500 White Galvanized 1
20 9GM06048 Plastic Knob M12 For Filter 2
21 017.1615 Metal Sheet To Center The Filter 1
22 9.531 Nut M8 4
23 9GE07035 FAN 86W 230V 1
24 9.536 Flange Nut M6 8

25 9GE09021 C14 Filter EMI With 2A Fuses 2pcs 1

26 9GE06028 Cable Glands PG7 NYLON 6
27 016.1615 Electrical Conduit 1
28 9GC04011 WHEEL Ø55 ANIKA Black 4
29 9GM06064 Handle 200xØ10 2
30 9.566 SCREW M5x10 4
31 027.1615 Self-Adhesive Membrane Keyboard 1

32 9.535 Flange Nut M4 12

33 9GM06029 PLASTIC SPACER 12
34 9.553 Screw M4x8 4
35 9GE13006 Power Supply 120-230 [V] - 24 [V] 1

36 025.1615 Enclosure Box 1
37 9GE08030 Electronic Board 1
38 002.1615 Carbon Filter 1
39 015.1615 Removable Panel For Access To The Filter 1
40 022.1615 LED RGB 1
41 021.1615 LED UV-C 3unit 2
42 9GE10013 Fuse 5X20 HE200 2
43 9GM04004 ROD ROTO-JET KR2 1
44 031.1615 Gasket  Profile 15x5mm 3
45 032.1615 Gasket  Profile 15x10mm 4

46 9C3X0,75V4
82 Schuko Power Cable 1

47 9GM12139 Label  Rupes 1

C

B

A

D

8 7 6 5

E

F

678 4

D

C

5 3 2 1

F

E

 1 of 1
A3Scale:

L'UFFICIO TECNICO SI RISERVA LA FACOLTA' DI MODIFICARE LA STRUTTURA IN FASE PROGETTUALE

1:10

THIS DRAWING IS THE PROPERTY OF RUPES SPA; IT IS AN INDICATIVE REPRESENTATION OF THE SYSTEM

Size:
Sheet

Weight:
Project:

DRAWING AND DIMENSIONS SHOWN
 ARE FOR INDICATION ONLY

TECHNICAL OFFICE RESERVES THE AUTHORITY TO MODIFY THE STRUCTURE DURING PROJECT PHASE

32  Kg

Dimensions:
Power:
Supply:

Descrizione - Description
 

 

A

B

NIVEUS 
NV100

230 [V] 50/60Hz
87W

880 x 415x415 

IL PRESENTE DISEGNO E' PROPRIETA' DI RUPES SPA; E' UNA RAPPRESENTAZIONE INDICATIVA DELL'IMPIANTO

Air Purification Systems


	Foglio1
	Vista del disegno1
	Vista dettagliata A (1 : 5)
	Vista dettagliata B (1 : 5)
	Vista dettagliata C (1 : 5)
	Vista dettagliata D (1 : 5)
	Vista del disegno6
	Vista del disegno7


